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General Instructions :
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The question paper comprises of two sections, A and B. You are to
attempt both the sections.

All questions are compulsory.

There is no overall choice. However, internal choice has been
provided in all the three questions of five marks category. Only one
option in such questions is to be attempted.

All questions of Section A and all questions of Section B are to be
attempted separately.

Questions number 1 to 4 in Section A are one-mark questions.
These are to be answered in one word or one sentence.

Questions number 5 to 13 in Section A are two-mark questions.
These are to be answered in about 30 words each.

Questions number 14 to 22 in Section A are three-mark questions.
These are to be answered in about 50 words each.

Questions number 23 to 25 in Section A are five-mark questions.
These are to be answered in about 70 words each.

Questions number 26 to 41 in Section B are multiple choice
questions based on practical skills. Each question is a one-mark
question. You are to select one most appropriate response out of the
four provided to you.




HET A
SECTION A
1. 39 FAf® Af@ & TR 9e9 & AW T8 9 fafee, MAwr yeaies T - OH
g | |

Write the name and formula of the second member of the carbon
compounds having functional group — OH.

2. HHT 99 H URafE & & & & Ieod HieT | 1

State one function of iris in human eye.

3. T I 8 S IIAVEA & Sed W W Ivd Tl gt W fafReor steiise W
forar w2 | 1
What happens when higher energy ultraviolet radiations act on the
oxygen at the higher level of the atmosphere ?

4. f&d R fwer § AT IOEE W W 10,000 S Fo U g, @ fadaw
YR & U JAEE SUGRR H R & & e S Sl Suersy gelt ? 1

In a food chain, if 10,000 joules of energy is available to the producer, how
much energy will be available to the secondary consumer to transfer it to
the tertiary consumer ?

5. 9 38 o= fRu T -
6Cs 80, 1oNe, 1 Na, 4,8
() T I3 a9 AT N aed F @ =T |
(i) ¥ 93 7@ gw < s 9 § a9 =@ |
TS YT § 30 99 & faw SR fafEy | 2
Choose from the following :
¢C, g0, 1oNe, ;;Na, ,,5i

(1) Elements that should be in the same period.
(ii) Elements that should be in the same group.
State reason for your selection in each case.

6. W T X AEd GRUT & AR SEd 9 TS W H 2 | IW a9 Q) H
T fommg, (i) &t daesar fafaw | e 3@ o SRoT ofgq ofe #ifww 1 2
An element X’ belongs to g period and group 17 of the periodic

table. State its (i) electronic configuration, (ii) valency. Justify your
answer with reasoning.
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11.

12.

13.
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39 Sig &1 A fafeu, St ] Suey gh A S 3ed Al § | 37 99 sEd
TRfefel & g ST St AemEl & I (i) § gfg e § wEEs ©
Name an organism which reproduces by spore formation. List three
conditions favourable for spores to germinate and grow.

qu & famE § =T # gt & Seog FiT |
State the role of placenta in the development of embryo.

THY RO SR@ S WU B9 S VWl Rl B WA aRd § 1 3 ful @
¥a 39 YR fEa S @ % < § WEdd % IvEn 399 G 96 S WA
1 H QR F g FHART 99 WEdd % UvErd $9 QU @ Seed R |
T Ul & ST W Ead U & BiGE g1 dmdl & & a Rod faw &
gfdfera &t fegfd J1d SIS |

To construct ray diagram we use two light rays which are so chosen
that it is easy to know their directions after reflection from. the
mirror. List these two rays and state the path of these rays after
reflection. Use these rays to locate the image of an object placed
between centre of curvature and focus of a concave mirror.

5l F9 & 5T ¥ o0 TN F e RS & TeRT W IW fReer & e
& fau Amifea feor siE @it |

Draw a labelled ray diagram to illustrate the dispersion of a narrow beam
of white light when it passes through a glass prism.

H H TF AW O ardfow R ¥ 8 W (I W) TG a1 § | Amifnd
G F GEEdl ¥ IHSH AT FHIfST |

A star appears slightly higher (above) than its actual position in the sky.
INlustrate it with the help of a labelled diagram.

g il & fmior § Sam A9 wmeei F gE aARY | 39 R FOFE g
R :

List three problems which arise due to construction of big dams.
Suggest a solution for these problems.

STaRel 4Rl & < ¥ SO IR W WE SRy | 39% T= =0 WOl §EEE B
g7
List the products of combustion of fossil fucls What are their adverse

effects on the environment ?
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15.

16.
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Rl AR H FESTEE S ¥ 2 aed @ 2 R guendE goit & S el %
Ta g fafEe o 39 9i @ Ieo FIS StogA AT & (1) Sifes e,
(ii) TErafe e, @ fuif ww @ |

What is meant by homologous series of organic compounds ? Write
the chemical formulae of two members of a homologous series and
state which part determines the (i) physical properties, (ii) chemical
properties, of these compounds.

Na, Mg @41 Al 3 @ ¢ 50 SOreisar sl & @ HAF &, & a9l =
21T () frwm sy Bew sifumas 2, (i) S wed %A sfufRaeie @ 2
A% & fAC FROT I FH IW F YT FC |

Na, Mg and Al are the elements having one, two and three valence
electrons respectively. Which of these elements (i) has the largest

atomic radius, (ii) is least reactive ? Justify your answer stating
reason for each.

mi-fly i e fafedl @ g ERT oW s @ uay § we Sl |

List and explain in brief three methods of contraception.

I g9 Ted Y TG & S (W) WX F W H OYE YOG & A (STHre)

T F Y G0 O @ g F, G ¥ meR % 0y Wi 2 | 3 A &

F, 0 & mX & e & @-¥ &0, @ 7 F, i & %X & 0w

Ul

(a) F, % & 03 39 fr@g 3 2

(b) F, Widt ¥ o dell qan a4 ddi &1 Stw 4 aem 2

(¢) 39 YR & Uil & Ica@ Hfew s F, 96§ T8 feER fu 3w B,
W A gfeier @ MU | yRs & fAw sRer ST

If we cross pure-bred tall (dominant) pea plant with pure-bred dwarf
(recessive) pea plant we will get pea plants of F; generation. If we
now self-cross the pea plant of F, generation, then we obtain pea
plants of F, generation.

(a) What do the plants of F; generation look like ?
(b)  State the ratio of tall plants to dwarf plants in F, generation.

(c)  State the type of plants not found in F; generation but appeared
in F, generation, mentioning the reason for the same.

5 P. 1.0
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19.

20.

‘21,

22,

23.
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IURSI ol SR TEfye el ¥ faved w3 aet @ faumant @ g o
et § TR0 | TG & TH-US I o ST | _

List in tabular form two distinguishing features between acquired traits
and inherited traits, with one example of each.

Saren fF9 FHR 90 § 2 Sharent @ eng feifa w@ @ Gl @ ogeg |
guiq FifST |

How are fossils formed ? Describe, in brief, two methods of determining
the age of fossils.

F TE ACERfEA F (1) FFEN AR (i) IvE T¥F <4, § I fFu WM &
T F YER F IeoE FGC | FA® FEOT F IO IW H L F AT FHR0T
fafEw |

‘State the types of mirrors used for (i) héadlights and (ii) rear view mirrors,

in cars and motorcycles. Give reason to justify your answer in each case.

4 cm T FE G 24 cm BFH T F 300 o9 & A Y F o 4dd @ |
forg @ o9 ¥ T 16 cm & | 9 §F H ITEAN & 994 A Sfafaa $ fefd,
e T THT I HIC |

A 4 cm tall object is placed perpendicular to the prmmpal axis of a convex
lens of focal length 24 cm. The distance of the object from the lens is
16 cm. Find the position, size and nature of the image formed, using the
lens formula.

F¢ e g & A F@ ¥ 1m T 59 g0 W fegd agell #1 @ 78 <@ e
21 % 9 g dw @ difed @ 7 o dREA 6 @R R ST WEar @ 2§
(i) TfF 37 30k 35 (ii) GyEA & fou s fEor s @iy |

An old man cannot see objects closer than 1 m from the eye clearly.
Name the defect of vision he is suffering from. How can it be
corrected ? Draw ray diagram for the (i) defect of vision and also
(ii) for its correction.

TESHET 1§ ? (1) G99 FRSHEAl, (ii) FHJW FREHEAl F AH T GH
T fofeu @1 TEF IR F TF ERGEA Gl @ qEise | R srigw
TEeHET B 9 YER Ggw a9E S bl 8 2

AgET
TarEfE S ¥ uuels F4 § 2 UeE ¥ fOu AUENE & S9AN ¥ o oY
a’raﬁlﬁr?ﬁv{uﬁm|3=rw1=htiﬂﬂ,aaaan—waen”wwqwqq
T g, ya & fau il & I9gH g & FRU fAay |
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What are hydrocarbons ? Write the name and general formula of
(i) saturated hydrocarbons, (ii) unsaturated hydrocarbons, and draw
the structure of one hydrocarbon of each type. How can an
unsaturated hydrocarbon be made saturated ?

OR
What are detergents chemically ? List two merits and two demerits of
using detergents for cleansing. State the reason for the suitability of

detergents for washing, even in the case of water having calcium and
magnesium ions.

YA H TH AR I UHenl o wEferlt g & o faved s | w
NG Wieed afaem W WS & S SRRT adr 9w @ Amifed
HRT - -

(i) W S-SRI (FHE)

(i) TR TH-HIEH ()

(iii) ATENE 5
g

AHE & HIEl S99 9F & ARG Qe [Fefaigd 9 @l AWifed ST :

(i) 98 9 S 3UE I FT @ |

(i) @8 9 @l e TH Y] H e der g o
(iii) @8 9 Wl ffad e (FrmasT) w@ifie g g |
Sq A9 30E H fHET 9 2 2, 99 ¥4 & g 2

Distinguish between wunisexual and bisexual flowers giving one
example of each. Draw a diagram showing process of germination of
pollen grains on stigma and label the following parts :

(1) Female germ cell
(ii)) Male germ cell
(iii) Ovary
OR

7 PiTi0:




Draw a diagram of human female reproductive system and label the
part

(1) that produces eggs.

(ii) where fusion of egg and sperm takes place.

(iii) where zygote is implanted.

- What happens to human egg when it is not fertilised ?

25.
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Mg il §RT Y & Wadd & fau 7 @ fog wiuet @i g9 a9Re | uw
I Tiea 39 fag Rt &1 g fordt T8 el qdor &t Sied g Td S
ﬁﬁﬁﬁﬁmﬁﬁaﬁﬁqsﬁﬁw%ﬂmﬁmcmgﬁwﬁ%mﬁwmmw
3affd wa wrE sfdfes s 2@ |

rgar
Y 0T g F WREdl ¥ Y F 3Udad & HY & Ieo@ FNW | T
F qadT & U 99 & oW &1 Soow SIS q9r 39 MR B9 § o5k o
FfT |
FE F GO A F AEIAE 2/3 94 A F WOW G F EAAE 4/3 € |
Ife H= ¥ yEw # oo 2 x 108 m/s B, @ (a) I H, (b) T H, FEwr H;N
e 9 i |

List the new Cartesian sign convention for reflection of light by
spherical mirrors. Draw a diagram and apply these conventions for
calculating the focal length and nature of a spherical mirror which
forms a 1/3 times magnified virtual image of an object placed 18 cm
in front of it.

OR

With the help of a ray diagram, state what is meant by refraction of
light. State Snell’s law for refraction of light and also express it
mathematically.

The refractive index of air with respect to glass is 2/3 and the refractive

index of water with respect to air is 4/3. If the speed of light in glass is
2 x 10% m/s, find the speed of light in (a) air, (b) water.




SECTION B
26. FW Gohe a4l 5% Tohe & o9 faom Hawr fewe 2 &
A) i SRR
(B) & 3R =
(C) et R R
(D) et 3R TEE
The aqueous solutions of copper sulphate and zinc sulphate appear
(A) blue and green respectively
(B) green and colourless respectively
(C) blue and brown respectively
(D) blue and colourless respectively
27. FHW Gohe, T Tohe 91 e Tothe F faergT s9T T 3R 39 | 9er I, 11
g 111 3ifd fFam T | 9s faoma ¥ 39 THe UgMET & S TN | 9 §HY
YR YT FH R IREdA 9T S
(A) IsRIIH
(B) II 3 IIT &
(C) IIsRIF
(D) o A
Solutions of copper sulphate, iron sulphate and zinc sulphate are
prepared and marked I, II and III respectively. Few pieces of aluminium
are added to each solution. After some time a change will be observed in
(A) IandII
(B) II and III
(C) III and I
(D) All the three
31/1 9 R:TiQ.
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28, WaEel § 2 mL S st i 38H 2 mL UEifes 3per faemar @ 3iK Seor &3¢
R g 9 T R

29.
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(A)
(B)
(©)
(D)

S WS W@ IR faerd @ T E
T & TF Ghe G I 2
o 9% g §9 St g

On adding 2 mL acetic acid to 2 mL of water in a test tube, it was
observed that

(A)
(B)
(€
(D)

a clear and transparent solution is formed
a white precipitate is formed almost immediately
two separate layers were formed

a colourless and odourless gas is evolved

et e ¥ S TRSNE FEHS ¥ TEIREE ol e W FIE B T8 ey

a2 &

(A) = Al 7& dd

(B) e W F W e @
(© A sk e A ¥ qeEd T ¥
(D) o &t e iy e R

On adding acetic acid to sodium hydrogen carbonate in a test tube, a
student observes

(A)
(B)
(&)
(D)

no reaction
a colourless gas with pungent smell
bubbles of a colourless and odourless gas

a strong smell of vinegar

10




30. Uifes ov & fwg ¥ 99 Ry U Jwoli ¥ ¥ Hw = W@ R 2

(A) ¥ it foem® & o & I @ 3R T fRe S T e @
(B) =& et forem® I At F oA @ IR T et qow H T A 2
(C) ¥ o faeny & Hiem & I 8 IR 9N fows G i wh 3
(D) ¥& A foFem it Ao X IO 2 AR THH Hell H A AW 3

Which one of the following are the correct observations about acetic
acid ?

(A) It turns blue litmus red and smells like vinegar
(B) It turns blue litmus red and smells like burning sulphur
(C) It turns red litmus blue and smells like vinegar

(D) It turns red litmus blue and has a fruity smell

31. f&dt e & & W 5l o fom @1 fafes w0 & U U srEaa qdur &

31/1

Ty g freif Fe 2 | o W W w3 Wi e =i 1
(A) F TEg g g fsel 3 @

(B) ¢ wefl-uifa ¥« T ARG

(C) w8 T§ &t fagar &t W& fa

(D) SANETEN W AN % O fRAR W @ AR S Sewel

A student has to determine the focal length of a concave mirror by
obtaining the image of a distant object on a screen. For getting best
result he should focus

(A) a distant tree or an electric pole
(B) a well-illuminated distant building
(C)  well-lit grills of the nearest window

(D) a burning candle placed at the distant edge of the laboratory
table

11 BiRIQ.




32.

33.
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fodt o= 4 fodt qU g9 & 3IeeT 9 YT NiafaE Ifadd SUUT & W W T8 W
W o | 3HF T 394 U @ g <UUT H S@Ed H A fRA | oW @@
<@

(A) T & WHA GaR W et geren st

(B) TUu ¥ g7 1 dien wd Safia wfafam

(C) = vfafaw 78 59 @1 Hifs i g€ M #

(D) T & WS W I F TAES DIl g Ieel Ffafa

A student obtained a sharp inverted image of a distant tree on a
screen placed in front of the concave mirror. He then removed the
screen and tried to look into the mirror. He would now see

(A) a very blurred image on the wall opposite to the mirror
(B) an erect and magnified image of the tree in the mirror
(C) no image as the screen has been removed

(D) a highly diminished inverted image of the tree at the focus of the
mirror -

ot SR e Saw S A B o BeiRa w0k 2, @ sy o A R
(A) T 3a o9 IR w&

(B) TU& 309 AW 3R o9 & RUe

(C) < = Vg, ¥ & Lrg AR @ 9\

(D) U 30 oF, TF W, ¥ Al & LU IR TF W

If you are to determine the focal length of a convex lens, you should have
(A) a convex lens and a screen

(B) a convex lens and a lens holder

(C) a lens holder, a screen holder and a scale

(D) a convex lens, a screen, holders for them and a scale

12



34. FF & NAAER TT § FH [eRA aTell FH 60T & 79 SRAGT A & T 6l
Fd GG FE B0 A9 & R few yEfe syew ¥ gafkay oiom s &1 ?

P, &1 P, 3@ 3N @s T f # ReafeE € 1
.\\\ ‘\@Pl ‘\@Pl .\\\
\@Pl \\\ \\\ \G)\Pl

©P; ©P; ©P, ©P;

I . II 111 v
A 1
B) 11
(C) 1
m): IV

While performing the experiment on tracing the path of a ray of light
through a rectangular glass slab, in which of the following experimental
set-ups is a student likely to get best results ?

P, and P, are the positions of pins fixed by him.

45 oF1 “oP1 N
o “oP1

oP; ®P, ®P; oP;
F II II1 IV

.9 ] |

B)

) - IH

(D= TV

11 13 P10




85. IR BHN A FY & NFAHR W F R [EA et BT H 0T F A9 g
3R 99 RfEq fee |

N\ R
RGNS, -

I II 111 v
fF @ & g0 SMfEd v F & B9 S 3w G 2
(A4
(B) I
C) I
o v

Four students showed the following traces of the path of a ray of light
passing through a rectangular glass slab.

N,
ek \ oA

III

The trace most likely to be correct is that of student

A 1
(B) 1I
(C) I
) IV
31/1 14




36. ¥ ¥ Hgod @ WIRS @ @+ & UvEN fafE sEl 3 A9 T T smE s |

©c8g8¢

T W@ SRE 1
(A) L II III

®) IL IOI, IV

C) ILIV,V

@M TINV

Following diagrams were drawn by different students on having seen
prepared slides of budding in yeast.

c8g¢8¢

Correct diagrams are

(&) = 115
(B) II, IIL, IV
o A 100
D LIV
/1 15 P.T.O.




37. A= Ru T W oM@ ¥ qgem 7@ <l T @ ?

© 0 00 ;
0 é)@ 0 @9 5 ) (%)
© Ot 0,
I II II1
A I
B) 1I
(C) 1III-
D) 1V

In which of the following figures is budding not shown ?

e, 0Y
00% @8 A @
©0 55 QIo

© & 0,
I II III
A I
B) 1II
(C) 1II
(D) IV
31/1 16




138, = smw@i ¥ apflar § fg-wved <uiar mr § e w9 9 @ R |

1/1

T G A 7

(A) I IL IV, I

(B) IV I, 1

(C) ILIL IV, I

) I BL I T

1A%

The following figures illustrate binary fission in Amoeba in an incorrect

sequence.

The correct sequence is
(A UL ALIV.. T
(B) HIIvV. 1L}
C) II, I, IV, I
() - -ING L T ]

7
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39. R fu MU smwi ¥ ¥ 37 W@ # gFU S v F fg-wved F WO quid €

I II 111
(A) I, 1L, III (B) IV, II, III
(C) V,II,1II (D) IV, I, III

From the following diagrams, select the correct ones showing stages
of binary fission in Amoeba :

(A) - L. I B) IV, 1, i

(G V,.IL 1 (D) IV, I, III

40. fEt o0 3 3O fRufinl @ Saw 9@ TR X fEd fEa | e R A fefien
H AT T F FEE | A 2 9 % 9vE 3§ fRuiRl @ 9 ¥ feee
3= g 3R f @ dien 3R 59 9R W Yy Sifa T | fevifell R s St
F e & frafor @ & fou ST e S aen g9y g

A Y% x100 @) Y=X x 100 -
y X
(©) y;" xgl)a (D) (v —x) x 100

A student weighed some raisins and recorded the weight as X’. She
then soaked the raisins in distilled water. After about 2 hours she
removed the raisins, wiped them dry and weighed again and recorded
that as ‘y. The percentage of water absorbed by raisins may be
determined using the relationship '

@A Y= « 100 @) =X x 100
y X
© = x"i'ol"ﬁ (D) (y —x) x 100
31/1 18




1 41. frufrell g0 savfia S & sfowaar e &0 & v § g feuf @
T 1 Y9 q% 9 ¥ N ¥ qvE A oif<m 9R wud € | uRom &
RYEd & faw, it g5 fFufied & g8 9§ ofaie 9a & g/ S @

(A) Fdl HIS F TEHR

(B) T &g Gl (SSHISR) FW
(C) ¥ w W

(D) fheer ™ (W) W

In the experiment for determining the percentage of water absorbed
by raisins, we do the final weighing of the raisins after keeping them
dipped in water for about one hour. For the accuracy of the result,
the extra water from the surface of the soaked raisins is removed by

(A) rubbing with cotton cloth
(B) hot air blower

(C) dry cotton wool
(D) filter paper

11 19



